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THIS PLACEMENT TEST ISONLY FOR:
v Business majors
v" Design Management major

INSTRUCTIONS:

v The test consists of 30 multiple choice questions.

v" Only Built-in calculators are allowed.

v" Duration of the exam is 90 minutes (around three minutes per question).



1. bz —3)(2® —br+2) =

(a) 5xt — 32% — 252% + 250 — 6
(b) bxt — 323 + 2522 — 5x — 6
(c) ba® +222% — 52 — 6
(d) 5z® — 28z% + 25x — 6

)

(e) None of the above
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(e) None of the above

3. If \/7 = z", then the value of n is
(a)
(b)
(c)
(d)
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d) 14

(e) None of the above

4. Find the width of a rectangle with a perimeter of 132 m and the length is 8 m more than the width

(a) 37
(b) 66
(c) 74
(d) 29
(e) None of the above
5. The domain of the function f(z) = 12 : f is

a) All real numbers except 4 and -4
b

(a)
(b)
(c) All real numbers
(d)
)

All real numbers except 4

d) All real numbers except -4

(e) None of the above
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(d) 83

e) None of the above

(a)
(b)

8. vV—8=

9.

I

(a) 2
(b) -2
(c) 4
(d)

)

(e) None of the above

Not a real number

_d+h+z
=
(a) T(N —d—z)
(b) TN +d+ =z
(c) TN 4+ 7d + dz
)
)

ft N , then h =

(d) TN —d -z

(e) None of the above



10. f4x+5=13x+4—x — 9, then z =

°
4
(d) 0
(e) N
11. If h(x) = 222 + 62z — 9 and k(x) = 32? — 8x + 8, then h(x) — 2k(x) =

one of the above

(a) —4x% + 222 — 25

(b) —4a? — 14x + 17

() —4x® + 14w — 17

(d) —4x? —22x + 25

(e) None of the above
12. The x—intercepts of the parabola y = 22 — 5z + 6 are

(a) 6

(b) -6

(c) 2 and 3

(d) -2 and -3

(e) None of the above
13. 3x107% =

(a) 30000

(b) 3000

(¢) 0.003

(d) 0.0003

(e) None of the above
14. (7(1_)5) =

2

(a) 24

(b) 12

(c) 6

(d) 18

)



15. If one phone costs $x and two cameras cost $z, then 5 phones and 4 cameras will cost

(a)
(b)
()
(d)
(e)

$6
$7
$8

=

8

8

$7.
None of the above
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16. If y = 2, then — =
=

17.
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one of the above
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None of the above
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None of the above
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one of the above

21. The solution set for 3x +2 > 5x + 10 is

(a) @

(b)

(c)
)
)
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(d
(e

22. The solution set for 22 + 5z = 0 is

0, =5}
{0}

{=5}
{0,5}
N

one of the above

T
x
x
N

one of the above

(a)
(b)
()
(d)
(e)
23. The slope of the line y = ;x + ; is
2

-2

1/2

—1/2

None of the above
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24. The solution set for 22 +9 = 0 is

3,3}

3}

3}

he equation has no real solution

T
None of the above

(a) {~
(b) {-
(e) {
(d)
(e)

25. The solution for |z| =11is x =

—_

(a)

(b) -1

(c) {1, -1}
(d)

)

(e) None of the above

The equation has no real solution

26. If y = 322 then z =

(a) In (yg +2
(b) In (y?z -2

(C) 2 — H(y)

1
3
21n (y)
d
@ 22
(e) None of the above
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27. If z,y > 0 then In (3%> =
)

)

) n3+5lnx+3lny
c) In3—5lnx —3lny

) In3—5lnz+3lny

)

None of the above



29. If y=1In(z +2), then z =

30. If x = 100, then log,, (z2°18) =

(a)
(b)
(c) 4036
(d)
)

(e) None of the above



Answer Key

Solution

Question Number
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